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BACHELOR OF COMMERCE 

(GENERAL)  

[B. COM. (G)]  

Term-End Examination 

December, 2024 

BCOC-134 : BUSINESS MATHEMATICS AND 

STATISTICS 

Time : 3 Hours     Maximum Marks : 100 

Note : Question No. 1 is compulsory. Attempt both 

Part A and Part B as directed. All questions 

carry equal marks. 

1. (a) Answer the following (any four) : 2.5×4=10 

(i) Under what conditions two matrices 

are said to be equal ? 
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(ii) What is inverse matrices ? 

(iii) Give one example from linear function 

and quadratic function. 

(iv) What is the dy
dx

 of ( ) ( ).y f x g x=  ?  

(v) Write formula for simple interest and 

compound interest. 

(b) Answer the following (any four) : 2.5×4=10 

(i) What are data in Statistics ? 

(ii) What is relationship between A. M. 

and G. M. ? 

(iii) Write the formula for Spearman’s 

rank correlation coefficient.   

(iv) What are base year and current year 

in Index number ? 

(v) What are the two models for analyzing 

time series ? 
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Part—A 

Note : Answer any two questions from this Part.  

2. Explain in detail the Input-Output Analysis in 
the context of matrix algebra. 20 

3. Given the following data : 20 

Fixed cost = ` 9,00,000 

Variable cost = ` 300 per unit 

Selling price = ` 750 per unit 

Calculate Cost function C (X) and Revenue 
function R (X) for X units of product. 

Also find break-even point and profit at 
quantity = 1000.   

4. Find dy
dx

 (any four) : 5×4=20 

(i) 
1/21

1
xy
x

− =  + 
  

(ii) xy x=   

(iii) 2 2 25x y+ =   

(iv) 3y u=  and 3 9u x= +   

(v) ( )2log and 5y u u x= = +   
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5. Calculate the amount and the compound 

interest on ` 12,500 for 3 years, the rates of 

interest for the successive years being 6%, 8% 

and 10% respectively. 20 

Part—B 

Note : Answer any two questions from this Part.  

6. What is Statistics ? Explain the importance of 

statistical methods in different fields. 20 

7. Compute mean and standard deviation from 

the following data : 20 

Class Frequency 

0—20 

20—40 

40—60 

60—80 

80—100 

17 

28 

32 

24 

19 

Total 120 
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8. Find the regression equation of X on Y by the 
method of least square : 20 

X Y 

3 

5 

6 

8 

9 

11 

2 

3 

4 

6 

5 

8 

9. (a) Explain different tests for Index number. 

10 

(b) Explain different components of time 
series.  10 
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      BCOC–134 

okf.kT; esa Lukrd (lkekU;)  

[ch- dkWe- (th-)] 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-lh-vks-lh--134 % O;kolkf;d xf.kr vkSj lkaf[;dh 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % iz'u la[;k 1 vfuok;Z gSA Hkkx ^v* rFkk Hkkx ^c* 

nksuksa ds mÙkj funsZ'kkuqlkj nhft,A lHkh iz'uksa ds 

vad leku gSaA 

1- (d) fuEufyf[kr ds mÙkj nhft, (dksbZ pkj) %  

2.5×4=10 

 (i)  fdu ifjfLFkfr;ksa esa nks vkO;wgksa dks leku 

dgk tkrk gS \ 

 (ii)  O;qRØe eSfVªDl D;k gS \ 
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 (iii) jSf[kd iQyu vkSj f}?kkr iQyu dk ,d 

mnkgj.k nhft,A 

 (iv) ( ) ( ).y f x g x=  dk dy
dx

 D;k gS \ 

 (v)  lk/kj.k C;kt vkSj pØo`f¼ C;kt ds fy, 

lw=k fyf[k,A 

([k)  fuEufyf[kr ds mÙkj nhft, (dksbZ pkj) % 

2.5×4=10 

 (i) lkaf[;dh esa vk¡dM+s (MsVk) D;k gaS \ 

 (ii) vadxf.krh; ekè; vkSj T;kferh; ekè; ds 

chp D;k laca/ gS \ 

 (iii)Lih;jeSu ds jSad lglaca/ xq.kkad ds fy, 

lw=k fyf[k,A 

 (iv)lwpdkad esa vk/kj o"kZ vkSj pkyw o"kZ D;k 

gSa \ 

 (v) dky Js.kh ds fo'ys"k.k ds fy, nks ekWMy 

D;k gSa \ 

D–3192/BCOC–134  P. T. O. 



 [ 8 ] BCOC–134 

Hkkx&v 

uksV % bl Hkk ls fdUgha nks iz'uksa ds mÙkj nhft,A 

2- vkO;wg chtxf.kr ds lanHkZ esa buiqV&vkmViqV 

fo'ys"k.k dks foLrkj ls le>kb,A 20 

3- fuEufyf[kr MsVk fn;k x;k gS % 20 

fuf'pr ykxr = ` 9]00]000 

ifjorZ'khy ykxr = ` 300 izfr bdkbZ 

foØ; ewY; = ` 750 izfr bdkbZ 

mRikn dh X bdkb;ksa ds fy, ykxr iQyu  

( )C X  ,oa jktLo iQyu ( )R X  dh x.kuk dhft,A 

ek=kk = 1000 ij ykHk&vykHk fLFkfr (czsd&bZou 

fcUnq) vkSj ykHk Hkh Kkr dhft,A  

4- fuEufyf[kr dk dy
dx

 Kkr dhft, (dksbZ pkj)  

5×4=20 

(i) 
1/21

1
xy
x

− =  + 
  

(ii) xy x=   
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(iii) 2 2 25x y+ =   

(iv) 3y u=  vkSj 3 9u x= +   

(v) logy u=  vkSj ( )2 5u x= +  

5- ` 12]500 ij 3 o"kks± ds fy, feJ/u vkSj pØof¼ 

C;kt dh x.kuk dhft,] Øfed o"kks± ds fy, C;kt 

njsa Øe'k% 6%, 8% vkSj 10% gSaA 20 

Hkkx&c 

uksV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj nhft,A 

6- lkaf[;dh D;k gS \ fofHkUu {ks=kksa esa lkaf[;dh; 

fof/;ksa dk egRo crkb,A 20 

7- fuEufyf[kr vk¡dM+ksa ls ekè; vkSj ekud fopyu dh 

x.kuk dhft, % 20 

oxZ vko`fÙk 

0—20 
20—40 
40—60 
60—80 

80—100 

17 
28 
32 
24 
19 

;ksx 120 

D–3192/BCOC–134  P. T. O. 



 [ 10 ] BCOC–134 

8- U;wure oxZ fof/ }kjk Y ij X dk izfrxeu lehdj.k 

Kkr dhft, % 20 

X Y 
3 
5 
6 
8 
9 

11 

2 
3 
4 
6 
5 
8 

9- (d) lwpdkad ds fy, fofHkUu ijh{k.kksa dh O;k[;k 

dhft,A  10 

([k) dky Js.kh ds fofHkUu ?kVdksa dh O;k[;k 

dhft,A  10 

 

 

 

 

 

 

× × × × × × × 
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